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7KH 3ODQQLQJ 'HSDUWPHQW PDQDJHV ERWK FXUUHQW DQG ORQJ�UDQJH PXQLFLSDO SODQQLQJ�
SURYLGHV SURIHVVLRQDO DVVLVWDQFH WR WKH 3ODQQLQJ %RDUG DQG RWKHU 7RZQ GHSDUWPHQWV� DQG
LV D UHVRXUFH EDVH IRU HFRQRPLF DQG FRPPXQLW\ GHYHORSPHQW� 7KLV UHSRUW KLJKOLJKWV WKH
3ODQQLQJ 'HSDUWPHQW
V DFWLYLWLHV IRU WKH ODVW \HDU�

7KH 7RZQ 3ODQQHU
V RIILFH KDV EHHQ RSHUDWLRQDO IRU WHQ \HDUV QRZ� , DUULYHG LQ +XGVRQ�
1HZ +DPSVKLUH RQ 6HSWHPEHU ��� ����� 0\ SRVLWLRQ UHSRUWV WR WKH 7RZQ $GPLQLVWUDWRU
DQG WKH %RDUG RI 6HOHFWPHQ�

=RQLQJ� ,Q $SULO ����� WKHUH ZDV RQO\ RQH FKDQJHWR WKH ]RQLQJ RUGLQDQFHWH[W�
FRQFHUQLQJ VLJQ KHLJKW� 7KH PD[LPXP KHLJKW RI VLJQV LQ UHVLGHQWLDO GLVWULFWV ZDV UHGXFHG
WR WKLUW\ ���� IHHW IURP WKLUW\�HLJKWIHHW� $QG WKHUH ZDV RQO\ RQH ]RQLQJ PDS FKDQJH�
D UH�]RQH IURP 5HVLGHQWLDO�7ZR �5��� WR %XVLQHVV �%� IRU 0DS ��� /RWV �� DQG ��� QHDU
0DUNHW %DVNHW RQ /RZHOO 5RDG�

/DQG 8VH 5HJXODWLRQV� 7KH ODQG XVH UHJXODWLRQV ZHUH UHYLVHG DV IROORZV� 6LWH SODQ
UHJXODWLRQV ZHUH UHYLVHG WR UHPRYH WKH VWUHHW GLVSRVLWLRQ DZDUHQHVV VHFWLRQ� ����������
$OVR� WKH JHQHUDO UHTXLUHPHQWV VHFWLRQ ZDV H[SDQGHG ��������� 2Q -XO\ �� ����� WKH VLWH
SODQ UHJXODWLRQV ZHUH UHYLVHG FRQFHUQLQJ VLWH SODQ HQJLQHHULQJ LVVXHV�

&XUUHQW3ODQQLQJ� /DVW \HDU
V DQQXDO UHSRUW SUHVHQWHG FXUUHQW SODQQLQJ GDWD IRU WKH WLPH
SHULRG 2FWREHU ��� ���� WR 2FWREHU ��� ����� 3ODQQLQJ%RDUG UHYLHZ WR
6HSWHPEHU ��� ���� LV RXWOLQHG KHUH�

6XEGLYLVLRQV DSSURYHG� ��
GHQLHG� �
ZLWKGUDZQ� �
UHYRNHG� �
H[WHQGHG� �

6LWH 3ODQV DSSURYHG� ��
GHQLHG� �
ZLWKGUDZQ� �
UHYRNHG� �
H[WHQGHG� �
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